Al #K 1

Z 828 F 5 3 — B =
. FEEEslE A
55 = X5 4 £ BT Bl [RENEDIELE HE
EmhREEM o e e
s T X&) G 1000KVA 6. BKV|HRA—E >
O el 1-2—1 G_ _300KVA| ___6.6KY|H2A—E>

1600KVA 6. 6KV

o | TEMERERE FETHRRSH G___15KVA| _ 0. 2KV[F4—EIL
R SRR 3—30—2 80KVA 6. 6KV

5 | TEMHRRARE ?ﬁﬂﬁw&[ia&m G__ _20KVA| 0. 2KV[Fs—EIL
4R HRAT 37KVA 0. 2KV

4 | TETHRRARE ?ﬁ?ﬁqw&[qﬂ%% G___55KVA| 0. 2KV[Fs—EIL
& & HsR Al 1—5—1 80KVA 6. 6KV

5 |TEMERIIERZE FEHRER)IRIEBETIG _ 72KVA| 0. 2KV[Fs—F L
107—2 175KVA 6. 6KV

6 |TEMERILARZE FERERIIREEE|G __ _20KVA| 0. 2KV[Fs—EIL
Bk HARAT 5—226—1 58KVA 0. 2KV

;  |TERMEEALE FEMWER G___20KVA| 0. 2KV|[Fs—t L
78T EHoRAT #%HBr1-5-10 25KVA[0. 1, 0. 2KV

g |TEMEXRHEHE FEMEERLHEAT |G 80KVA| 0. 2KV[Fs—t L
244—1 225KVA 6. 6KV

g |TEMEXRHHE FEREERXKER |G 20KVA| 0. 2KV[Fs—TF L
A= R 3090—1 8OKVA 6. BKV

10 |TERM#HABE FEMZKRBPAHFH |G__ _85KVA|[ 0. 2KV[Fs—EI/L
3—15—1 175KVA 6. 6KV

11 |TEMRHEBE FEMZXEHMET G____20KVA| 0. 2KV|[F1—EIL
EH kT 2—26—1 55KVA 0. 2KV

1o |TEMEARE FEMRHEX G___15KVA| _ 0. 2KV|[Fs—EI
HHNEHIRAT HITAHAMNES—19—9 45KVA[0. 1, 0. 2KV

13 |[FTEMEEHEGE FEMEERITH G___15KVA| 0. 2KV|[F1+—EIL
TR SR Al 1—1 105KVA 6. 6KV

14 |TRAAGREEF— [FRAREFIE G_ 475KVA| _ 0. 2KV[F1—E L
1513—1 980KVA 6. 6KV
15 |[TEMENR FEREERSMN [ |
B EtE 72— 4—1—16 125KVA 6. 6KV




